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101|R#A7 L 726 210 516| Kg |&)I 1,080 378| 2,484 756
102|357 L 2,122 2.122| Kg BIE 1,566 800
111|&EEF £ 627 14 613 Kg |=4 1,188 810| =40 1,728 399
113|RAV S 6 6 Kg |EfE 1,404 1,080

114|B5EFE 172 172| Kg e 2,700 1,080
15[ 1= 1 1 Ke |EE 2,376 755

117[1E 35 6 29| Kg |EB 1,188 972| L 3,780 1,080
121|rblE &€ 13 3 10 Kg |E& 1,620 270| £ 1,728 432
134[#= = 354 206 148 Kg |8 - =8 2,700 1,200 £ 5,400 1,620
137|&5ES. < 43 40 3l Ke |[x% 3,240 1,728|K4% 3,564 3,456
138|Hm % 2 3 3 Ke FE 1,080

140(5 I 26 26| Kg Fifi 43,200 18,000
147|EZ O 108 108| Kg |EE 1,620 b 7,020 4,000
158|&TENAIEH 253 253|  Kg IR 2,160 324
201|{Lb L 780 780 Kg BER - R 405 180
203|/Né L 104 104| Kg 3= 378 324
205|5u8 L 284 284 Kg =40 675 359
206| 1 657 657| Kg =5 864 270
207| = AE 28 28| Kg sl 810
208|m>% 354 354 Kg L 4,320 432
2094 B & LA 256 5 251 Kg [|iLm@ 1,253 = 1,431 135
210{1F AL 14 10 4 Kg |LDO 1,469 1,253| &5 7,560
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212|&IENY 451 451 Kg i 1,998 972
251[<AFECA 153 153 Kg |T%F 4,428

252|LWAEXECAH 89 89 Kg |EA 3,564 3,456

254|EDT2ELCAH 616 24 5921 Kg |=i& 1,512 2P 2,160 1,112
303[A 27z 289 289 Kg A - R 500 216
319|h o 433 4331 Kg ANER L 1,620 756
332|113 WA =EF 194 194] Kg Bl = 2,376 1,944
351(4EH 68 45 23] Kg [3%E 5,400 3,888| = 8,640 4,590
35411FxE<Y 44 441 Kg FIE 2,916 1,134
355(mp Y 181 181 Kg &E - B2E 2,160 600
356(L L& 70 70 Kg SER 1,512 756
357|7RE 91 24 67| Kg [3&E 945 878 3,456 1,148
358|KE 10 10 Kg |ZA0 2,376 2,268

362|Hh & 307 307 Kg =B 3,024 360
401|H W 30 30 Kg Iz & 2,160 2,052
4025 5 &E 10 10| Kg A0 5,184
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512| A& AL 250 250 Kg b 1,400 1,300
523| A EARAT 2 O 385 385| Kg =] 3,672 1,194
54| ARE & 2V 21 21| Kg Bh 1,800 1,566
5h4|E X BA AR 90 90| Kg £[#=2 800 450
558| 62 62| Kg b 1,134 918
560|487 2 108 108| Kg =] 2,500 1,650
576|4R & 1F 875 875| Kg b 1,000 980
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70110 BA 444 444  Kg s 1,890 1,134
709|Lb LALF 10 10 Kg TFE 495
710(2 2 AT 28 281 Kg Ko 1,375 1,350
BlEFAI L 228 157 71 Kg |51R 704 631 BB 1,998 648
755|FH&» C 364 364 Kg EE 775 491
7611 b BHAEL 27 271 Kg AL 1,980
76713725 W\ H 250 250 Kg =1L 1,500 1,044
B01[IBAL = 1S 538 538| Kg ¥ -mA 1,728 572
802|1 x| 80 80 Kg mE 1,242
8051 1E 1,116 1,116] Kg JbF 1,058 689
810|FAKF 10 10| Kg bF 2,160
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